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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer any seven questions from the
following : 1x7=7

were IR AT snebr e Teg 31 ¢

(a) Define ‘Tevel of significance’.

el T W@ Tw |

(b) Explain ‘confidence interval’,

“RACIoT FAS  frw
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() By reducing the experimental error,

c) When using ‘sign’ i .
_ © & ‘sign’ test, if two scores local control increases the _ of

are tied, then(Choose the correct option)

B’ =18l TR IS 3 | the design. (Fill in the blank)
° R q, |
cots (@@W?;;NEEE) | mﬁmﬁwmmaﬁmm
(i) we count them | wfewe g% ww
wif sl e : (T 3% 2 7))
(ii) we discard them | "~ {g) Compared to parametric methods, the
oifsy 3 *e non-parametric methods

(Choose the correct option)
(iti) it depends upon the scores

| U 707 LIS G-AFeRE ARSI
A WD R @[S T I3 |
. | (9% Tewh! AR Tlerea)
(iv) None of the above ‘
RRC — (i) are less accurate
a | N A
) ANOVA is a statistical method of . .
comparing the of s:veral (i) are less efficient
Populations, (Fill in the blank) | T TE
!
?:W e —_— Ol PR IR ; (iii) are computationally easier
MW@ANOVAI | NSO HL
\
(171 312 77 7) o
(e) Define my hypothesis | (tv) (@) and (i) are correct but not fi)
Re o et fa | (i) O (iii) v7 % (i) 727
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(4)@B
(h) If AB«< T)

()
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» then the association
between two attributes A and B is
(Choose the correct option)

R AB<(A3V(B) R, (O0F 0ol 99 A F

B2 3R 1% 33 (o5 wews aik shve)
) o
0
(@) positive
NRIES
(i) symmetric
e
(iv) negative

Jelgs

correct option)

o IR RO o iy e
BURS (9% Bwwsy a1 Bed)
(i) 0-025

(i) 0-05
(i) 0-95

(v) Cannot pe d
" etermj :
more information Mined without

I S R 3 St g
4

() Define one-tailed test.
GF-oj5z RS “i9reR wcr

(k) Level of significance is denoted by
(Choose the correct option)

Aot w1 ot fat =
(8% TGIH! AR Cfaean)
i) o
@ v
@) B
(iv) None of the above
(87T B8 7=Y)
() Write down the hypothesis that is tested
in CRD.
54l Ao oISt fSTeTia «iSt TRee
SFFPTR foralt|
2. Answer any four questions from the
following : 2x4=8
& TS WA Rrewar 515 e e famt ¢
(@) Distinguish between type I error and
type II error.
AW R R o o R o |
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(d)

(e)

(9)

(h)

Define critical region.
TR CF @S e g

Explain sign test for symmetry.
S RS e oo gt 71

What
corr, -do YOU mean py yates’s
€Ction 5 . y Ya

zamatmmq’iﬁmﬂﬁ$§§n?
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Answer any three questions from the

following :

5x3=15

oo AR Rl fofabt e Beg 311 3

(a) Discuss the principal steps in testing a

(b)

(c)

(d)

| 3(Sem-3/CBCS) STAHG/RC/G 7

statistical hypothesis.

AT 47T AFR e g
ST 3 |

A random sample of 400 units from a
large consignment showed that 120 were
damaged. Find (i) 95%, and (ii) 99%
confidence limits for proportion of
damaged units in the consignment.

(I ¢l IR AR 2 G- 400! (ol
<51 jforzs Af e 12081 @it ol 2o | ST
©oll G SPHIST (i) 95%, WF (i) 99%
e A Ref

Write a note on the basic principles of
experimental design.

ey wfemmR chfers Mo Rew o
(ot it |

What are the conditions necessary while
applying z? test for goodness of fit ?

GG (DY 12 #Srt Eice [ 7 56 i
5o #iest 2
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(e) Describe how the goodness of fit can

be tested by using 2 statistic.

2 iR Al TR e et S
IR iR 3 =)

(/ In a randomised block design, there
are S treatments and 4 blocks. Explain

the principle of randomisation of
treatments in these blocks.

o Pe SR GBS 551 TP S 45t
Q¢ IRl ooz Rien due b
TS R0 31 |

(9) For a 2x2 contingency table

G 2x2 AR TR AR

a|b
cld

show that '( e @)

= Nd-bop
(a+b)(0+d)(b+d)(a+c)
“where (%) N= =a+b+c+d.
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(h) An experiment was conducted to test 5
treatments A, B, C, D and E in 4
randomised blocks. Write down the
analysis of variance table.

4% Qo 47 I ST GBS 5B Tl
A, B, C, D% E *1! 311 = TR &R
R 1t 31

4. Answer any three questions from the
following : 10x3=30

weTe MAIEIRE R fofbr o3 Bes forat ¢

(@) (i) Fill in the blanks of the following
table : 5

woTe At FRIARAS IET SIBTZ 77 1 ¢

Source d.f. Sum of squares Mean squares F
B ymwm @ waf F
A 4 — - -
B 2 — - -
0-137 —

(ii) What is randomised block design ?

State its advantages. 5
o vo AT e TR ARaPg
T =
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(b) Discuss the analy
way classified datg
-l Rew wam oo
S 4|

. its
dlsadVantages

Sis of variance of two-

Resa sraforst

e BT —
- TR NI et

P T e o

SRR R gy
(e) What are the

drawbacks of non
over bParametric

ﬁﬁ*ﬂﬂf{{w

advantages and

-par ametr'
methods ? 1c methods

S5+5=10

. e ;
associateq with asic assumptions

it ?
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2+3=5

I
& R NS TfYe I

()

(h)
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(i) Set up an

() What do you understan

i

analysis of variance

table for one-way classified data.
5

G- Reiferes o= Roagd i
94 2ES |
d by local

control in design of experiment?
What way does it increase the

efficiency of an experimental
2+3=5

WWWWW%
w?ﬁﬁ%@mﬁmmm

FpiRTS R TRT T2

(i) Writea note on experimental error.

5
W@ﬁﬁmmﬁm\

Let p be the probability that a coin will
fall head in & single toss in order to

1 .
test Hot P75 against H12p=-i— .

The coin is tossed 5 times and Hg is

rejected if more than 3 heads are
obtained. Find the probability of
type-1 error and power of the test.
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[ p=38 (77 7B T Hy: P=El)j

3
® Hy:p= IS ol IR =0at | @i 5

aﬁﬁweth%ﬂmmsmﬁas@ﬁﬁﬁ
IS CIR AN H, T waiyy 311 29| cofomt 20

Ype— 1 STt et et B
]
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